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eyl px>

A square pyramid has a height Axls alia Jghg 8 cm Aclli)) aup ap
of 8 cm and a base with a side . aaa 1ag .9 cm
length of 9 cm. Find the volume of

the pyramid.

O 324cm3

o 162 cm?

O 216 cm3

O 648 cm3



dilgbuwll p2>

Find the volume of the cylinder. ) gaul) ana gl

7m

16m

O 322w m?

O 784mm?3

O 49mm3

O 112mm3



18 cm

24 cm

14 cm

16 cm

Two square pyramids are similar. af el e Job . olgaliia Glaap Gl
The sides of the bases are 4 cm and 3% a)¢d) 5308 ala Jgh Lains 4 cm Gl
12 cm. The height of the smaller sl .6 cm sall aygdl gl 1 .12 cm
pyramid is 6 cm. Find the height of omSl aygd) gL

the larger pyramid.



bgyrall p2>

Find the volume of the cone. Jag i) aaa sa gl

o 2lmm?

O 42mmd

O 63mrmd

O 7mm?3



O h=7.5m
O h=75m
O h=0.75m
o h—zm

T 64

Olowuzall aylins

The two containers are similar h g U sagl . Glgaliia Gliighaal Glaglal
cylinders. Find the height h of the Ball ngla.ﬂ q:

smaller container.

V=27rmd V=64rmd
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V1| =
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A quadrilateral has a perimeter of 12
and all of the side lengths are odd
integers. What is the probability that

the quadrilateral is a rhombus?

Jlai>l

e Jghly 12 (gslow (Sl IS Jaaa
088 of Jaia) L duad dasaa Slas acdial
Slaa S Jed



O 3x4x5x2

O 3!x4!x5!x2!

O 5P1

O 3+4+5+2

Jaa bl

In a certain class Student Council 3 L Cha DU alad) allads) ‘_,a i
election, there are 3 people running Ao waldl 44 Z\:UISJS...M caia Ao Galddl
for secretary, 4 people running for uais Ao Galddl 5 g G giall dilal cala
treasurer, 5 people running for vice .Liall L) cuais Ao Gladdiy guad)ll QiU
president, and two people running .alaiaal) e R J@J‘
for class president. Find the

number of possible outcomes.



NN

N =

Q| =

In a game, the spinner is spun and a
coin is tossed. What is the
probability of getting a prime number
on the spinner and the coin landing

on tails?

Al SlasVl

i agall Qasdll g ol clall) gas) A
38 o Jgeanl) Jlada) La . duidns dlas 4y
5 Adinal) dakadl) Jaghuy Qadll o Al
ALt




16
20

13
20

10
20

Find the probability of selecting a
number at random from integers 1 to
20 and getting an even number or a

number divisible by 3.

db g rira)l SISV

DY G Hpde s L8N Juda) gl
2o Ao Jgamally 20 ) 1 (e dasaal)
3 o Aadll J6 2 o a5



| =

Lamia has the letter cards A, H, M,
and T in a bag. If she selects a
permutation of the cards at random,
what is the probability that she will
spell the word “MATH”?

Joodl g SVl

ATsMgH A Cigall clilla sl (s
IS cilallad) oda ol a1 L dwds
Al plan Cipall) 08 of Juaia) L o Hgde
¢“MATH”



